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5h () 7o B 50 R AT ()79 B S R i SiA™ =R S135% ARG IR MR 42.17 $51.5.7( 10| R2.6.23 |1,459, 200 15.8 0.083
Sh (0 Bl B R ()0 B 4 3R i ST =ERTIUMR S135% HEEREIREE T RETREBEF 41.4 H3.5.9| 10| R2.6.10 1,370,400 16.3 0.20




OXRKELEEAM (FEEYHELIF., MEDRERITEN)
HO#F

_ > E Tz 5 - I 3 1PE: - E P
dopr | 2 & & Ftzsh S %5 | 5% |smena 4l | BHiRm M GHAE | s
= (ke/h) (m?) e @N/B) | 9 | TEQ/m®N) | TEQ/e) |ETTETVE
mESR| 1 |BERER BIF WA mEGRT  |FHEST0EM el 2,780 27.0| H9.5.1| 5| R2.9.9 | 17,800 | 10.2 | 0.0020 0.016
mESR 2 [ IYU—2T5H Wy U—vISH=BTH mESRT  |F)IETFA2500 el 2,083 7.5| s51.1.1| 5| R2.6.18 | 187,550 | 17.4 | 0.010 | 0.0029 0
mEDR| 3 |mEdRE mESRHY - Er s — mESRT | PzERTRZAI610E3  |EEMENF 2,083 12.225 [H11.12.30( 1| R2.9.15 336,000 | 13.2 | 0.0023
mEDR| 3 |mEdRE mESRHY U—Er s — mESRT | PzERTRZAI610E3  |EEMENF 2,083] 12.225 [H11.12.30] 1| R2.9.16 | 240,000 | 10.4 | 0.0059 | 0.089 | 0.0012
mEDR| 3 |mEdRE mESRHY - Er s — mESRT | PzERTRZAI61053  |EEMENF 2,083 12.225 [H11.12.30( 1| R2.10.15| 312,000 | 11.8 | 0.0047
mESR| 4 |BESLT O BIE/LT () WmESRE  |)IZTE415-1 BEEMGE 8,000 66.5| $49.5.1| 1|R2.10.20|234,480 | 7.2 | 0.0032 0.0023
mEHRR| 5 |TILYEER T IEER mEdRT | FHETIS0E M BEEMGE 33 1.8 |H14.10.18] 5|R2.12.23| 8,100 | 9.0 0 0.0000096
mEHRR| 6 |(#+~—3 W k—3 mEGRT  [EEATFH1952-1 BEEMGE 37| 2.98 [H11.12.20] 10| R2.4.14 | 6,576 | 11.8 | 0.4 0.042
mEDR| 7 |mEdRE REFRHATA - s U—> mEDRT  |)I1ZTAT4086- 1 BEEMGE 484 80| H5.81| 10[ R2.10.6 | 40,800 | 18.1 | 0.083 | 0.0019 | 0.0028
mESR 8 (I U—2TS5H B U—vTSFNZITH mEGRT  |ZHE3048-2 BEEMGNE 3,125 10.5 | s51.3.1| 5| R2.6.17 412,800 | 18 | 0.0045 | 0.0011 0
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wE | 1 |k ERIEEWBIETS (FF) HIERT HARTITE10-1 BREYIEIF 720 B3| $59.7.31| 10| R2.4.16 | 81,600 11.6 | 0.0041
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wE | 3 |A—>—TR WA —>—IT2 HIERT #HEAET3TH 15398 BEEWEN 463 B3| H9.3.25| 10| R2.11.19| 26,400 15.1 0. 66 0.44 0.00018

FE | 4 |HRETR FRETHEE S — HIERT &2 THWESS BEEWEHE 1,079 7.5 | H2.2.26| 10| R2.7.15 | 50,400 12.2 0.10 0.0012 0

wE | 5 |#EET HERTERE 2 — HIERT BERATZ122-1 4} BEEWENE 2,792 14.6 | H14.12.1| 1| R2.12.22| 240,000 | 7.5 0. 0090 0. 049
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wE | 9 |ERIEEH EREZHBEIE FEE) HEET PHETSEF 15 BEEIENIR 5,300 ZBA| H11.12.1] 0.1| R2.6.22 | 192,000 9.2 |0.00000050
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wE | 9 R BERILFHBIETE FHRE) HIERET MBI 5 & 18 BEEEHE 5,930 B3| H22.3.31| 0.1| R2.7.16 | 499,200 | 4.2 0

wE | 9 R BERILFHBIETE FHRE) HIERET MBI 5 & 18 BEEMEHE 11,000 ZRB9[H28.11.21| 0.1| R2.6.24 | 520,800 | 6.2 0
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#wE | 10 |[EEH FETBERTY ) —t o8 — ‘T INFART A BEFR 12005 0 BEEMEHE 4,167 9.3 | H3.10.31| 1| R3.1.14 [1,008,000 | 16 0.02 0. 0027

#wE | 12 |FHETUFVIH FHETUTF VI wEH 47ER1073 BEEEHE 45| 0.55 | H14.12.1| 5| R2.11.25| 5,010 19.9 0.43

wE | 13 |BIER BIESRTRERBRAE LR wEH 5k R Z.2025% i BEEEHE 190| 3.4 | H14.7.11| 5| R2.7.10 | 14,400 13 0.12 0

e | 14 |BiER BREREHKEFRRBERE L 5 —RBHRF | BHERTH BRFZ159 BEEMEHE 60 1.1 H4.6.15| 10| R2.7.14 | 6,160 9.7 0. 0023 0

wE | 15 |@1xHD WIS IRRES wEH FHRETEE313-2 BREMIELE 140 1.8 | H13.4.27| 5| R2.5.27 | 6,000 12.4 | 0.00030 0. 00000030

g | 16 |BERRE R D R R ) wET FHRETEE £ 7510977 1 BREMIELE 55| 0.55 | H16.7.1| 5| R2.5.14 | 40,320 20 0.63 0

wE | 17 |EIIEmRE BN ERHRT T wEH JL5962%54 BREMIELE 100| 1.83 | H23.6.3] 5| R2.9.14 | 28,700 15.2 1.5 0.30 0. 054
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54 | 1 |5nm T SiaH BT F431E S BRI 3,625 22,0 | H27.10.1) 0.1| R2.9.10 | 331,200 | 61 | 0. 000011 0.000036
54 | 1 |5nm BT - E— SAH BT 431 B BEDHAIF 3.625] 220 | H27.10.1] 0.1] R2 9. 11 | 348,000 | 6.8 0 0.36 | 0.000026
58 | 2 |48 BRI U= e S —BRRER SaH BRMRTER S BEDHAIF 100 205 | Hi6.61] 10| R2.6.29 | 30450 | 19.2 | 022 | 041 |0 00000032
54 | 3 |momEm RO WRE BRI SaH EERTAABI2 15 BRDHEHIF 550 100 | H8.21| 10| R210.13|107.000 | 163 | 16 0
54 | 3 |momEm RO WRE BRI SaH EERTAABI2 15 RRDHEAIF 550| 10.00 | H8.2.1| 10| R2.10.14| 92800 | 19.7 | 0.6 0
54 | 3 |momEm RO WRE BRI S SaH EERTAABI2 15 BRI 29| 279| W84 1] 10| R2 928 | 22800 | 1563 | 0027 | 0016 | 0012
5% | 4 |[HEEmm H LB SaH AR AE R / AF53513 |REMRELE 626 120 | H531| 10| R27.28 | 74000 | 1569 | 058 0 0
54 | 5 |WERBEC WHRRE > AT SaH ATGRTHET R 945% 1y BEDHAIF 160 955 | 56415 10| R2.6.24 | 25800 | 149 | 3.3 0.079
5% | 6 |HEmEmm HEFBMRE ATl SaH EANARTIBROAE 2 |FEEMBER 117 15| Rea1] 10| Re217| 7600 | 69 | 095 | 025 |0 00000051
5% | 7 |ERE TR Y-t - HEBLEN |SHIAA BEDHAIF 1125|972 | W19.521] 5| R212.3 |137.368 | 115 | 0097 | 22 | 078
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T% | | GIRRCAuERREEES |FPRRERE S — FFH =H1433% BEEGEEE 2,500] 22.4 | s52.3.31] 5| R2.10.5 | 240,000 | 13.1 0.23 )5 5,00010
hF | 1 |FREECARERREEGES BT HKEREL S — #FH =R14335H BEEGEHE 2,500] 22.4 | s52.3.31] 5] R2.10.5 [ 272,000 | 14.2 0.22
HF | 2 |EFFER BFETE% #FH EEE e 170 6.8 | H3.6.1| 10 R212.1 | 24.800 | 129 3.0 0.13 0.099
% | 2 |EFPER BFETE% A FIIK129-4 BN 190 13.0| He.12.1| 10] R2.7.2 | 55,200 | 14.2 4.2 0. 044 0.013
% | 3 (BT B2 IERFAT IS A =R EILE 6-448 BN 100 0.8 | Hi5.3.25] 5| R3.1.25 | 21,440 | 128 2.5 0.85 0.0043
HF | 4 |[FTHEAES FFHRHASAHMI L 2 — A LT AL 5 138- 1 BN 75] 194 | H3.1.31] 10[R2.10.15] 7,800 13.9 1.1 0. 00021
HF | 5 |WE—Taq WE—Uaq RFEB A T T NR AR 195282 BRI 189| 83| R1.12.20] 5| R2.12.24] 13,900 6.2 | 0.0067 | 0.00018 0
hF | 6 |#EH BRI Y —rEra— F -t Wiz 6625 is BN 1.375] 11.3 | Ho.3.12| 10| R3.2.5 | 76,000 | 127 | 0.0015 | 0,003
HF | 6 |#EH BRI Y —vEra— F-Ld iz 6625 its BN 1,375]  11.3 | Ho.3.12| 10| R3.2.5 | 88,000 13 0.058
BF | 7 |AA/BER® A L Ve T F-Ld 2 825- 3 BN 582| 20.8 | H8.6.7] 10| R2.9.25 [ 355,200 | 15.7 1.9 0.14 0.038
BF | 7 |AA/BER® +7/ ERMEEE LR F -t 2 1825- 3 BN 5000 83| H21.4.1] 0.1] R2.12.9 [1.461.600 | 13.4 | 0.062 0.27
EERREEE FEA L Ve T HEm 2 9825- 3 BN 5000 83| H21.4.1] 0.1] R2.11.10 (1,656,000 | 15.3 | 0.047 | 0.048 | 0.0093
EERREEE FEA L v-EE T HiEm 2 825-3 BN 2,045 3| H25.6.17| 1| R3.1.26 | 259, 200 12 0.014 | 0.064 | 0.000089
EERREEE FEA L Ve T HiEm 2 R825- 3 BN 1,670  22.7|  Hes.2| 5| R2.11.2 [297.600 | 11.9 0.14 0.053 | 0.0067
EERREEE FEA L Ve T HEm 2 9825- 3 BN 1,670  22.7|  Hes.2| 5| R2.11.21|324,000 | 11.9 | 0.0023 | 0.039 | 0.00017
EERREEE FEA L v-EE T HiEm 2 R825- 3 BN 1,670  22.7|  H2s.2| 5| R2.12.8 | 362,400 | 11.8 | o0.011 0.022 | 0.0032
HF | 8 |FTHHREEAIAEAS |(FTORMI AT A EEE FPENFE | KFRIFH1795-10 BN 471 12,0 | H12.1.14] 5| R3.1.26 | 71,250 | 17.4 | o0.076 | 0.0037 | 0.0029
% | 9 |BER BIEE P REFREER FPENFE | SEK64EM BN 190 57| Hes.12| s| R2.7.7 | 13,200 | 11.2 | o0.0068 0
HF | 10 |[BER BIEET & RPYE FHEELET | ERET240% BN 60| 1.47 | H20.11.1] 5] R2.12.7 | 2,400 10.4 | 0.0023 | 0.0051 0
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IR | 1 |/\WR IEERESt Y8 — I\BET EIL 0 EHhA0E BEEMBEIF 1,750] 13.3 | H9.3.20] 10| R2.6.5 | 600,000 | 17.5 | 0.037 | .o [ o
IR | 1 |/\WR IEERESt Y8 — I\BET EIL 0 EHhA0E BEEMFEIF 1,750 13.3 | H9.3.20] 10| R2.6.5 |648,000 | 17.4 | o0.057
NBBE | 2 |BER BRERETRERRALER \BB3E AREIEHRISENS BREMBAIF 190 3.4 | Hia.7.11] 5] R27.1 [ 16,100 | 137 [ 2.1 0
ABBE | 3 J\BRBREREHMEE | —xE I\BET BRETERI BB BB | BENRIF 400 511 | set.2.1] 10| R2.9.14 [ 27,500 | 12.3 | o0.21 0
ABBE | 4 |mhEs w B EEREN TS I\BE3E N2 9 E#HI4E 3 BREMBAIF 187 1.98 | H26.5.1] 5| R2.12.24] 36,000 | 6.0 2.0 | 0.083 0
IR | 5 [KoMh AT 8 — KM NS ERTZ 12635 BRENMBAIF 1,875 14.0 | H3.3.20 10| R2.6.16 [338,400 | 13.8 | 0.012 [ 027 | o0.0%
IR | 5 [KoMh AT 8 — KM NS ERTZ 12635 BRENMBAIF 1,875 14.0 | H3.3.20 10| R2.7.10 [312,000 | 13.0 | 0.026 | 050 | 0.0034
IR | 6 [N - BESHEEBEA KN - ESHEFHAL LRILERES - 878 | XM iz 1 &2 BREMBAIF 593 2.2 | Hi1.3.20] 5| R2.9.24 245000 | 19.2 | 0.0032 0. 0000031
JEE | T [BaFyo WLFH KBS KM FREEZ701-2 BREMBAIF 140 1.8 | H15.8.30] 5| R2.5.15 | 4,400 | 122 | o0.52 0. 00000060
MR | 8 |[HRSHEAHI7—L |HRRHEAHI7—L4 KM THAT2E 3 BREMBAIF 189|mL (wm) | H21.5.15| 5| R3.3.5 [ 19,200 | 80 | o0.13 o
R | 8 |[HRSHEAHI7—L |HRRHEAZI7—L KM THAT2E 3 BRENMBAIF 189|mLm) | H25.6.1] 5/ R3.3.5 [ 17,760 | 7.6 | 0.22
JBE | 9 XTI E< b AT E b KM P Z 3041 7 BREMBAIF 190|  4.46| H22.4.16] 5] R3.2.5 | 35,520 | 9.1 0.34 0.0052
JHESE | 10 |tARR 344 7R [ENGE i KM FlLBE 890 RENMBAIF 122]  2.88[H30.12.18] 5] R3.2.4 | 21,120 | 10.3 | 0.00061 0.015
IR | 11 |RFAT MFEY U—vt s — ESHNTE | EEA0TEH BEMBAIF 656 588 [H10.12.14] 5| R2.6.4 224,000 | 18.2 | 0.53 ' 0
IR | 11 |RFAT MFEY Y-t r s — ESHNTE | EEA0TEH BREMBAIF 656 588 [H10.12.14] 5| R2.6.4 208,000 | 18.6 | 1.1
IR | 12 || s WL RILEE ESBHTE  |EEF0 RENMBAIF 428] 175 | W14.12.1] 5| R2.6.30 | 36,800 | 13.9 | 2.1 0.62 | 0.0051
IR | 13 IR NI IR BB E + B LR ESBHTE | F+HEF618- 1 B EIE 196| 1.95 | Hi1.6.15] 10] R3.2.1 [ 44,800 | 16.3 | 5.6 0.18 0
IBE | 14 |WFHRMAR wEH R ESHRTE  |EMFSIE4 B EIE 122 2.88 | H19.3.20] 5[ R3.2.4 | 36,240 | 6.2 | 0.0033 0.0039
Mg | 15 [BBR BRREWKENRFEERR LS — |ETH HRETFT 7 5156% 1 BREMBAIF 50| 1.5 s55.2.20] 10[ R2.8.19 | 3,200 | 125 | 0.37 0
IR | 16 |WERE TR R FPA BT 109456 RENMBAIF 187) 1.98 | H30.5.1] 5[ R2.6.16 [ 39,600 | 7.8 | 0.045 | o0.011 | 0.0037
I\BBE | 16 |BEPHAKES 7 7 AR AR AR A 91 S R BEFH 5011 BT T 48739 BEE MR 170 193 | H5.9.27] 10] R3.3.9 [ 32400 | 129 | 0.69 0.011
MR | 17 |WFREATS WFRF AT [ha FAATMRI23 BN EIE 10 1.9 H21.3.9] 5[ R3.2.3 [ 31,30 | 14.8 | 0.24 0.0048
IR | 18 |mmaEE wmEE LR FAATEE2017E 1 B EIE 122 2.8 | H27.2.14] 5[ R2.3.10 | 9,600 | 153 [ 1.0 0.0026
JBBE | 19 |[ARVBHTILyLa7—XK AR VDT Ly L 17— BRES [BEFH FHIBTTII1071-1 B EIE 189|sL (@2 [H26.10.20] 5[ R2.11.30] 20,160 | 9.7 [ o.11 | 0.0012 [0.00000018
I\BIE | 20 | SR HIAHME 1 TH LR FAOBTR L FAR1256 B EIE go| 32| w51 10 re22 |51.600 | 17.8 | 0.037 0.0038
MR | 21 (AT RHE AT BHE LR FAOAT_EHASE188 B EIE 193] 4.36 | Hi6.7.6] 5[ Re2s [ 35360 | 13.7 | 0.083 0. 0021
IR | 22 | Ea WoEIAVEMTE LR FHAKLI & B EIE 186| 4.35 | H15.2.10 5] Re22 | 36480 | 16.2 | 0.046 0. 0046
IR | 23 | Ea WeEIAYBHIE LR FHETFIT 55624 B EIE 173] 2.0 | H18.12.7] 5[ Re23 | 54400 | 69 | o0.028 0. 0046
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FHE | 1 |BER EREAMTREARMEFTNBIA  |FTHSH BETHE1EH BRI 190 3.4[H14.10.11] 5| R2.7.30 | 12,000 | 7.7 | 0.49 0
FHS | 2 |WSHEARE - SHER |WSHAODE - SHEH FH&H REFIEH FY1824-1  |EEVBHE 130 4.2 s61.8.31] 10[R2.10.16] 5,660 | 14.4 | 0.029 0.016
FHS | 3 |HLRER (ES T FHBH R 2 RA0TE 169 BREMBHIE 190|  4.32| H12.9.30] 5| R2.12.3 | 20,440 | 8.4 | 0.038 0.0015
FHS | 4 |[FARBREHFEMES  |FASRRENFHEMES Bt S— |FHaT WET—RFHI199 BREMBRE 2500 13.93| W27.10.1] 1| R2.9.29 | 11,000 | 8.2 |o000i0 | o
FHS | 4 |[FARBREHFEMES  |FASRRENFHEMES Bt S— |FHaT WET—RFHI199 BREMBRE 2500(  13.93| H27.10.1| 1| R2.9.30 | 11,000 | 8.1 | 0.0019
FHS | 5 |REEEH MEELH FHBH EBETAFHET678- 1 BREMBHIE 187.5| 9.6 H14.5.14| 5| R3726 | 4,400 | 17.8 | 1.3 3 26
FHS | 6 |WEEERER Wi EERMR EXRENLSS FHST THBH=MTHE1356% |ERNBHE 613  12.5| Hg.4.15| 10| R212.18 | 73,600 | 11.6 | 0.41 0.40 0.040
FHS | T |EE wst FIFAIZBEAIAT | PI1661- 1 BREMBHIE 471 1.1[H16.10.22] 5[ R2.10.8 | 65,550 | 20.1 | 0.27 0
FHS | 8 |HSVBRM HSVBIRK EFFMRIAT | KF i HI320%H 2 BREMBHIE 150  1.54] H12.8.1] 5[R2.11.26] 40,000 | 14.3 | 0.039 | 0.0068 | 0.0072




